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@)

Instructions : (1)

@)

Samaisgl elamssenn sflwures gl ubeurdl o dangT aanigmen
sAuTisg s Qarararayb. siFaludella Gapulmudea amns
samarafuurerflh o Laigwrs @sfeilsseib.

Beaid sjag smUY enaer UGG apgeugshHE Luabss
Couar(b. UILMEE aieragng Cusild LweuBgsen.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Black or Blue ink to write and pencil to draw diagrams.

@olly : Qeualemsgmer @;)GETQJ. “fleysanersd ClETamLgi.

Note : This question paper contains three sections.

%ifley - 1/SECTION -1

(S LCueTseT @ 15) / (Marks 1 15}

@iy : ) BSulfaie = drer 15 dlamsseréEh oL walssa)b. 15x1=15

(i) @eLliyE gilWad Gsr@ssuul fedarer wrpm bl safle
Blee b sfwrar sl amusg CaibosHSH eT(psaD.

Note : (i) Answer all the 15 questions.

(i) Choose the correct answer ¥rom the alternatives given in the brackets.
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1.  Guer_é Garliul L remfl (ausd slamLaib) Qeguild 7 cuensimen IH
2 (meu Geumursener sam_HiBsmi. SuperareunBled qh euens Caugur® wrd
o erengl. ergiCleucns TRl
Sawrig.an 2 wrh : GplenL, Glea
eilanguilewr BlmLD @ WwEHFaT, LFDS
waflar semwel b : mefl, Corambd
SeTig e DENOLIL| : CQIDETERLOWITENS ~ &HlgGLDTEIS).

Mendel observed 7 pairs of contrasting characters in Pisum Sativiim. One of the following
is not a part of that. Find out.

Tall and dwarf

Yellow and green seed colour
Terminal and axial flower
Smooth and rough stem

2. Sperereunmier erHiGarent (2pemgmen) Gloorss erg ?
(Cpmismbl, Crmusmluden Bés, Lgeamswrar Lrsh, SriliLme)
Pick out a non-antigen.
(Germ, Toxins of germs, New forms of protein, Mother’'s Milk)

3. usEWwL sraurhsafe urela Qumss wanuid paLLumb Wad Hspay.
(BHeUMBSD, (PpererdEHe, B 2 (eurgew, Warhss Cersana)
In sexual reproduction of flowering plants, the first event involved in this is :
(fertilization, germination, regeneration, pollination)

4. graughgeaia esagdlen Lienfl
(Benrs sLGFIBD, o anmeald sLFS5L, AWCaT blwsMHEE SLSHSD,
S EeIRmaTs HL_GFHIHD) -
The xylem in the plants are responsible for :
(Transport of water, Transport of food, Transport of amino acids, Transport of oxygen)

5. Ui erAAUTEEEE TOsEIEST 6
(sriflgid, @mdY, waatflwibd, Hlassfl)
Example for fossil fuel is :

(Copper, Iron, Magnesium, Coal)
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6. @m sorsdar  gsaser  SparCarnrsd  awflCu  GQzfeugearrd
S EEDTFCD eremIu(pib.
(o @Tenlod: SMTFD, FlDLDE HMIEED)
The particles in various forms are visible only under ultramicroscope, A solution
containing such particles is called

(true solution, colloidal solution)

7. Geudl erflwener eremug

(mpens eflenan, Hengeymisen llenar)
Chemical Volcano is an example of
(combination reaction, decomposition reaction)

8. sRisD eramm gaflwwreng Gerwors daLliug @dme. @& sTHNH Hdag
BmLen efevanfleug @eaeme. @a Hlenoulled 2 arerg).
(safisg Hevew, Cops Flaw)

Gold does not occur in the combined form. It does not react with air or water. It is in

(native state, combined state)
9. marszs sflos CeromsEpsEL Sgliumiwure galwb
Qer@Hude 2 crerg). ‘
(14 augy Agm@ghller / 15 aug Qurgduien)
An element which is an essential constituent of all organic compounds belongs to
group.
(14th group/15t group)

10. soamsa GHbLSSR 2 drer (pgd Cerwgder IUFPAC Guwr

(rgSen | mgangen)
IUPAC name of first member of alkyne is
(ethene/ethyne)

11, erenLuflen e

(kg, g Bluyt e, ms~1)
The unit of weight is :
(kg g Newton, ms~1)

[ Q@Dq&; / Turn over



4330 4
June 2014 www.tnschools.co.in
12. 20 b Wlei genwyerer &bLGulen 0.2 A WllenGanmLb 2 (Heursss CoaeuliLiBd
Blenanpss Coumur®
(100V, 4V, 0.01V, 40V)

The potential difference required to pass a current 0.2 A in a wire of resistance 20 ohm
is

(100V, 4V, 0.01V, 40V)

13. @88 sL@uur@seail® __________ ugly woHm urdyseer &l Sifls
Qauliugens o seuidmg.
(Qeuctmeno, Qary QerrliLmean, SHENLW, DEEFET)
—— surface absorbs more heat than any other surface under identical conditions.
(White, Rough, Black, Yellow)

14. urfeeuled QUL BETaITS SenLDaIS

(szem hquie, Gilepiquild, Gefl gpquin)
The field of view is maximum for
(Plane mirror, Concave mirror, Convex mirror)

15. WSlansrpss gramiaewd seampiliysser
(uirsb@LL, SurpGL, ergsen, Hluil )
discovered electromagnetic induction.
(Oersted, Faraday, Edison, Newton)

19fey - 11 / SECTION - II
(dlCluemser : 40) / (Marks : 40)

@iy : agGsmb Brus darssearss e weflssead 20x2=40

Note 3 Answer any twenty questions.

16, s fwaigar wso sHsre wallga awamy QsTRasUULL. walls Genmisamer
auflengliL(Higg ey b.
(Pwram_igre weallgen, CaprCur Qandeldv, CanrGur erysLev, CaprCom
QeQwer)

Sequentially arrange the differert species of man from primitive to modern man.
{Neanderthal man, Homohabilis, Homoerectus, Homosapiens)
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Qar@ssuul@earar 2 Lp@apur@seaiear sealurean qeamn 5GHS
ETTEBISEHLE SaTLDlbg eT(DES.

(ApéEm@, abGomidur, wrewssear, siwdalsd, sfi siflarer, Erés
Gerens Cpmi)

A list of disorders are given below, pick out the odd one out and give reasons.

{Colour blindness, Haemophilia, Night blindness, Albinism, Sickle cell, Anaemia)

Qurpsss

GL.GT GouT

mreTdlédeom FyLilser

srenrLHD LGS

(o) | a@smi@ spod adpmiLEs

(=) | Ol L fAE sroQ Wiy

(@) SenemTLILD HENE

() gL Syl (PSS
Match the following :

S. No Glands Location
(a) Thyroid gland Abdomen
(b) Pituitary gland Thorax
(© Pancreas Head
(d) Thymus gland Neck

GaTpe LGLUY eratug @ané Qewsmer 2 (hauTsGL @R Hspal. G
uELY peLQumib Qedsmer CarhoghHss.

(@eruQumss adfdlue Qsdsda, QAgrh ey alfdud Geaser,

sraobant eTiASaSlwe Qadser)

Reduction division is the process by which gametes are produced. The cells in which

reduction division takes place, are :

(germinal epithelial cells, the sensory epithelial cells, columnar epithelial cells)

[ Siplys / Turn over
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20. &peren LLHeng euangbgl GHIUEL Hérer urskismar QuuA{HS.
@STMUD, (PFFSELM, @GTaeUaneT

Copy the diagram and label the parts in the group given :
Thyroid, Vocal cord, Trachea.
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e uilflermsEph seunilar Qebumss wponsesd QsTHasiul Hdrarer.
Qaribumés papsamer ighEu o udfariisCerm() QuTEIs.

Nerdsen avenLIGrrana v
<S|(HLDL|FH6D HCymrGLrGemeusnaer| slani 1 ypéser
SITTL_THE QenrGuims s Aeveud Uméle M b ser

The methods of reprodu
reproduction to the suitab

ction and the organisms
le organisms.

are given below. Match the type of

Fission Spirogyra Yeast
Budding Protozoans Flatworms
Fragmentation Bryophyllum Bacteria

2 Ladlan ‘wrevL i Asllev’ eranmy ApBrab Sewsstiu@Eng. srrarb

SeTLMIBg eT(Lpgs.

(@) 2Ldled Qupuu@d Swass CaduQurmlses Amfrssde

Qupluu@dng.

(=) fmfrew Qrsssder Caudll Qumml saflen swfleae] Guem fms.
(@) fmfrsd 2L dfled Qupb Soass Cadl Qurmlsmanyb

QaualCupmdna.

(F) SAmbran o ddler simards CauduGurmsmerynd Cellss meibsé

Qarerdlmg.

Master chemists of our body are kidneys. Justify.

()
(b)
(©
(d)

Maintain the chemic

naflgaian syrafl e Ld

al composition of blood.

@muuﬁmw

Kidneys acquire all chemicals taken in the body.

Kidneys send out all chemicals taken in the body.
Kidneys store the various chemicals taken in the body.

erour® el hsdar Sisluem e grhdamarhs orpss.
Geul @G> upaeT,wWranemuilen sHLb,

Normal body temperature of man is

Based on modifications make the pairs :

Incisor

tusk of elephant.
quills of porcupine.

(peremid Lempluden plser.

[ Sllys / Turn over
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8

urgnlsaflen LnsEGsrailad sramiiuheug)
(=) Crrow, e armGrron, Crroeplsar
(<) Grmow, B, eflre HaEmiGeT

(@) Crmwob, 2 ewriGrmob, QSTibLseT
() Grmoib, p&D, Gsdleésar

The epidermis of mammals contains :

(a) hair, bristle, quills

(b)  Thair, nail, claw

{c) hair, bristle, horn
(d) Thair, nail, scale

ETEEM] SIFD Y OSADTONS LIHDDMLSDS.
Cupsar. Gwedla ‘

(=) ergpansi BEDsH par Qupdng ?

(<) @8 FRUEL Hiamanuifl erg?

Sugar is converted into alcohol,

From the above statement :

(a) What kind of process takes place ?
(b) Which microorganism is involved ?

Sparer 2 awreys srdldlen LysH PaPlUBSEH igmar Do KGnblirs
LLFHmIS.

Leé — s1pE — umby — Qe Héfledl — seuener

Study the food chain below, correct it and convert into a pyramid of energy.

Grass — Eagle — Snake — Grass hopper — Frog.

CamglL @Lhsemer Elylys.

(=) Bflarmed 2 am_m@b Comise @556 H

(1) Bupens cumyelled sTamlLBD (pSemanpuimaT olumeT
Fill in the blanks.

(a) Example for water-borné disease is .
(b) is the chief component of natural gas.
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9

wrdlwerer Hpouls Gum Guwend wHmib SHmbul Qup GuieTs eueThiIs@aT
WpernwrgEl QurhSsIs.

GG SET A B C

bl Qupib eueThsaT & &) Quit_GrmaSluib

Smbul Qup @uers

o amany_yme | @wpeans eury | @MW gafl < hpe
GUGITTR ST

Match the suitable renewable and non-renewable sources.

Sources A B C
Renewable Coal Wind Petroleum
Non-Renewable Hydrogen Natural gas Solar energy

Smwul Qup Quers aerd aatug @f Guhas cerbd. Gsame walg
msiedlar Gaussms il s Causwrs Qubens Hapeilamme Lorhmeomb.
CupsarL smponl L&, sSauDrast oag sfureasr aaums 2 nd
Qel. geunrs Gmbsre, sflurer spilaears s

A non-renewable resource is a natural resource if it is replaced by natural process at a
rate comparable or faster than its rate of consumption by humans.

Read this statement and confirm whether it is correct or incorrect. If it is incorrect give
correct statement.

eisseanraw Bfld sardgy, Cgeillgw soreme o (heursdw (Gen
CupQaram() Fissemrail Smiss (Pl {br? D TaTansas S([Hs.

You have prepared a saturated solution of sugar. Is it possible to dissolve some more
grams of sugar to this solution ? Justify your stand.

10 flgrd ergrren 2 Uenu 40 Symb Bflé sersdHin Curg e (heuren sempge
QeMellen Blevm sHeigimngs sansdl(Hs.

Take 10g of common salt, dissolve if in 40g water. Find the concentration of solution in
terms of weight percent. ‘

www.tnschools.co.in
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32. Sperer crHSHI& sTL_(HEanall(phg pCarGLrl, pGsrurismen e wimeTd
SIS,
18A1%, 1;,CI%, 5Ca?, 1,7
From the given examples, form the pair of isotopes and the pair of isobars.

0 35 W0 37
16AT0, 1,CI%, 5,Catl, 17 Cl

33. (=) waflg @réssden pH wHi
(=) Caudll Qummensefien oreen
(a) The pH value of human blood is
(b) King of chemicals is

34. sememTOLS SOMOF GHUBSHD Curg ahs euaswrar Ceudlelenar Hlapin?
clland .

What type of chemical reaction takes place when limestone is heated ? Explain.

35. @@y GUAgLug auree aybfld pLEGWLT? 2 udassrar
STIETSMSE Fafll.

Can rusting of iron nail occur in distilled water. Justify your answer.

36. oileflugder LWEET Glramiymans Fmms.

Write any two uses of aluminium.

37.  @saDTH LHESMSTO FhuGL Sw eflamaraysedr wrame ?

What are the evil effects of consuming alcohol ?

38. Al iafler gpampmd Quss elfmus smps.

N
State Newton’s third law of motion.
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shglrmuen - 1 L &CsrE Qsriryenw fleo Bncuambsafler Guwrsar G
Gerpesuuceararar. geame fAo Quursar CsTH GgTiibdargamey.
Gsr_inbdrs Bneuerbsaller Quuisamer UL igwed(Hs.

@nsu eflarteuat yilie] enwowib.
2 & GETHMT HLOWILD
prer eflamGeuat anlowih

eraClemni erfleumyd &psLn

The names of some organisations which are associated with Chandrayan-I mission are
given below but some of them are not. List out the wrong ones.

ISRO

WHO

NASA

ONGC
QUT(HSGIS.

2 MUy &er CIRICETY
(=1) CuLLfl sveg Bal sws AgmeELly A=
() BlergenL —HH—
(@) @Sl L@__
(=) Geumédnll S —AA—
Match :

Components Symbols
(a) A battery or a combination of cells i®_—
(b) A resistor of resistance R —HH—
(c) Ammeter L®__
(d) Voltmeter —A—

[ Sy / Turn over
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Gamgl L @Liiseamer Hriys

(=) Blanepss Coumur® - Ceuréd BUL T ereriled

WenCarmiL b
(<) B e Hlenewid
Giu 2ped

Fill in the blanks :
(a) Potential difference
Current

(b) Power plant

Solar energy

WDILENT <y Hmed, erefien

Voltmeter, then

Conventional source of energy, then

SieoLlLE GG Qer@sstiul_@arar Qarpsaila o Muaeupamns
Coin@sRs5s Sparagibd L eumearany BIrlLs.

(s1686T8WD, STOTD, sriue, sriwb, arfu gdmevd, <igidlamub)

Crirdlemeumis

sriw e Csnéseer

eréimbletmau mil

Qevsamesdl L aseid

Complete the table choosing the right terms given in the brackets.

(zinc, copper, carbon, lead, leadoxide, aluminium)

e

+ ve electrode

Lead acid accumulator

— ve electrode

Lechlanche cell
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Camgl L @Lmiisear Hlylueyw
(<=1) CortLmi : Hevessrbsd, arafls papulorer Gurlorf :

(=) Gelws Qareneva| : WBLLT, Smer :
Fill in the blanks :
{(a) For a motor : a permanent magnet, then commercial motor :

(b) Focal length of a lens : metre, then power of a lens :

e GPQedadar Gelwggnmd 2 8. arafld, Heddlar Hnern arams.

The focal length of a concave lens is 2 m. Calculate the power of the lens.

Qe au@sd s eueruLb GWlwmgude Giub Caremmeumss GHEELD

)
b

N

(1) @dayerar geuampdsam®, sflurer sET auerLLLD EUETWIG|D.

(<) 26 HmspsHnarar edleTdsd Grajb.

The ray diagram shown below is introduced to show how a concave mirror forms an
image of an object.

)
D

N

{a) Identify the mistake and draw the correct ray diagram.

(b) Write the justification for your correction.

[ SipLLs / Turn over
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(Qfley - 1M1/ SECTION - III

(oflOQueimaar : 20) / (Marks : 20)

@oluy : ()  gaGeurm uEHuldiBiEgID @ eller aisb mres oflaméseEnis
adenLwefl&sa)b 4x5=20

(i) galeumm ellarmelh@n mBa HLCL@TSET.
(iii) Coeveuwimen @)L AIGald LILLD auems.
Note : (i) Answer any four questions by choosing one question from each part.

(i) Each question carries five marks.

(i) Draw diagram wherever necessary.

U@l - 1/ PART - I
46. 2 GrsClsmfler mIuefwellen LweruT igenen aflaul.
Explain about the uses of Biotechnology.

47.  ser @obans QUDETeTTT.

(<) Gpps GREPSES P& D LTFREEEGH alphs Codrgw
Crmigs®ULs @i Laimanmeni oT(psis.

(@) @B55 sOLLAseT ppad apGsHE Crrismar sESHL Guigid ?
Kala has delivered a baby.
(a) Suggest the immunization schedule for the baby in the first six months.

(b) What are all the diseases that can be cured as per the schedule ?
u@S - I1/PART - I

48. draraall, sl Hssal 5G5S mé§g$5nL®Lm RUAHS.

Compare aggregate fruit with multiple fruit with suitable examples.



June 2014

49.

50.

51.

15

2 msEHoLw ugduller B sLBLurgamd wisd audyndprisedr.
oGy §7§ gl@uUTLgamad saiiss caCadrar e s
eOFWITEhelTaeT ?
In your area, there is scarcity of water. Due to this the people are affected. So, what
are the measures to be taken by you to mete out the scarcity of water ?

u@S - I/ PART - I
S Agnemas upflu Ggefleurer diatdssens siefsasamigu pealar Signé
Qsratenswraig owes Csrams, Boouaomnr Csriur@ wHob
sHGurensw sar@dylysmanybd 2 (Heurarsm@n. Geupdlen (paid pefear
Sigmistlararasuiiar Car_urhaamen cfleauflss.
Modern atomic theory takes up the wave concept, principle of uncertainty and other

latest discoveries to give a clear cut picture about an atom. State the findings of modern
atomic theory.

Gar@ssuulBerer il aumamui® Camgl L L Rsma SEHS possmm
aumiour L meé Blylineyih.

au.eranr| 0CHen | vdew | densen

CoHe SERE. CH,
(1) Es e .
& CHet reSen FFSENSENT
( S CHy - S
) yCrriCuen | YCrmuSer| yCrriienuien
CsHyg
(&)

Gyt Gt | Gyl e s | Gy en e

Fill in the blanks using suijtable formula in the given table.

No Alkane Alkene Alkyne
(a) C.Hg Gty
Ethane Ethene Ethyne
Propane Propene Propyne
(c) CiHy
Butane Butene - Butyne

www.tnschools.co.in
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LGS - IV/ PART - IV
52. spdlrmwen - [ Giflel FTEEneIH(EHaT gCsmIb @b TpSIS.

Write any five achievements of Chandrayan-1.

53. Sh&saT UL aueyhgl UTahsearll L s Ghléseywb.
(1) s
() Aogsdi
(@) Beradli
() ellevCamanTid
(z) SanswrpnsCameamid
(2ar) ef(HGaremTd

Draw the diagram given below and label the following in the diagram :
(a) Incident ray

(b) Refracted ray

(c) Emergent ray

(d) Angle of refraction

(e) Angle of deviation

(i  Angle of emergence

-o0o- By: RK TUITION CENTRE
Allenkottai



